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Instructions / Ldoecdsden :

1. Answer all questions.

) 03 VL DAPEPDRA0 FPOE0A0

2. Answers are to be marked on the OMR sheet supplied. Every question is provided with four
answers. Only one of these answers is correct. Correct answer is to be marked in one of the circles (A
or B or C or D) by filling the circle with black ball point pen.

RBPEPHB0000 OMR D@0 & 1Gows0d . A H) £ TP VAFEFIBVLD RHEDD . DB
28 DATEPODD AP0 VO QI . DO A DATEISWIHL (A/B/C/D)  deosorr &)

R0 &° g &S oot 00308 .

3. The OMR sheet should not be folded or crushed.

OMR 28250080 Q¢ H& T D1 Do DEY.

4. Question numbers 1 to 15 carry one mark each and question numbers 16 to 25 carry two marks
each. Question numbers 26 to 30 carry three marks each.

1 Qoo 15 16D (0 VI 0D, OB HF) O 1 oedd) . 16 Qod 25 HBDH (o 3 VD VB PI D 2

Q) e . 26 ooc 30 HBLH o 03) 0D VB P3) D 3 drdy) .

5. No negative marking for the wrong answers.

B VATPEPROD VL QI°U) 00 B 0T .



6. Cell phones / calculators and slide rules are not permitted in to the examination hall.

DT Fe0 S8 PRy, ODHSE ew (Calculators ) 2odasn  Erren @RSt G .

7. Please do not write anything (name or hall ticket number) on the question paper. Two blank
sheets are added at the end of the question paper. These sheets can be used for doing rough work.
No additional sheets for rough work will be given.

OT°) DGI0 P TP VAPEO DFD0 PP A (DO / B5E Howath ) Gros HE. YF°) DG
DHCES® Boty BY THBID 05 IADD. 6D D) & SPASHDL P BRED Juivy . 6D HE), Ew

BRIV BY SPHBDVLD RO LD -

8. Make sure that you fill the details like name, hall ticket number, category etc. before start of
answering of the question paper on the OMR sheet.

OF°) DBBVVLH DAPETPIADLD FR A00¢8d, OMR DG’ HED, Doedd B3 RSBS

DB P00 Sock.

1. Thesumof2° 3%°and 4°is:

2°,3%, 4% & 2w dos?

2. 360 can be written as:
360 &0 & $ob Do € FODIY
(A)2x3x5 (B) 2°x 3°x5 (C)8x4x5 (D)3 x2°x 5!
3. The HCF of 12 and 28 is:
12 208050 28 © . . (1 doth?
(A) 2 (B)3 C)4 (D) 36
4. The square root of 0.04 is:
0.04 & H5¢ e Jod?
(A) 0.002 (B) 0.02 (€)0.2 (D) 0.16

5. A person took a loan of Rs 1500 from his employer for 3 months at 12% per annum simple



interest. The amount he has to return is:

28 H53 1500 crroposn Sarc dow ERaw 12 % 9¢ P SRo0o) , 0add 3ot HOD GH Jod

2
(A)Rs 45 (B) Rs 1500 (C) Rs 1545 (D) Rs 1455
6. If the area of a circle is 81T square feet, what is its circumference in feet?

28 D800 BV DT 81 TT 96362 ecaren @D, €3 DY) tot Sered (ecorers’ ) doch?
0% b 2770 0% )

(A)9 (B) 18 @9 (D)1811

7. In a given school, there 240 boys and 260 girls. What is the ratio of the number of girls to the
number of boys?

208 FrsTro &S° 240 erendd 208030 260 erdgen &) , @ DEe S°D erdEe SBAIL erend DS docs ?

(A) 1:1 (B) 13:12 (C) 12:13 (D) 240:260
8. A man purchased a bundle of cloth, with a list price of Rs 20000, and a sales tax of 10%
on it. He paid Rs 25000 to the shopkeeper. The money he got back was :
08 B8 28 Trad o 20000 drrope £, od P 10 % B8 D0 . 03 ) cesrdd
25000 sraroen 3DodS |, 9sds 8o SN $3°&§.Dé Doeh ?
(A) Rs 22000 (B) Rs 15000 (C) Rs 3000 (D) Rs 2000
9. The area of acircle is 314 cm2. If = 3.14, then its diameteris :

w8 ByB ot 314 Bes) 2086 . Tt Dewsd 3.14 0o , &8 Hyeh TgRo0 Dot ?

(A) 100 cm (B) 50 cm (C)20cm (D) 10 cm
10. What fraction of 1 hour is 50 minutes?

208 o) &5° 50 Donswen as; Hoehd ?

A. 1 /50 B. 6/5 C. 5/6 D. 50/1

11. N is one of the numbers below. N is such that when multiplied by 0.75 gives 1. Which number is
equal to N?

& 3005 ADND Doy © S’ g N Dewsdd . N 0.75 & 3DNoDD DBy Dewd 1. N Dewsd ok ?

A)11/2 B)11/3 C)5/3 D) 3/2

12. 1f sin@ + cos B8 =2 cos O, the value of tan Bis:



sinB+cos B=2cos 6, @3 tan 6 Jewd Jos ?

(A) 2 (B)1 ©)2-1 (D)2 +1
13. Simplify - ——
(V3125)/(V 343) &0 © a8y 580500

(A) (25 V15 /27 ) (B)(3125/ 343) (C) (3125 X 343) (D) (343/3125)
14. Value of kif 64 ~k = 4.

64+k=4235,Kk dend dod ?

(A)4 (B) 8 (C) 16 (D) 32
15. Whatisxifx+2y=10andy = 3?

X+2y=10 08030 Y =3 @, X dewd Jodd ?

(A)6 (B)3 ©) 4 D)7

16. A machine fills 150 bottles of water every 8 minutes. How many minutes it takes this machine to
fill 675 bottles?

28 apoganw A 8 JaNdwod 150 20w Dodrdd . 675 2F0 DoErdS & 0oBIRD Y
BBV DEDSB0E?
(A) 24 (B) 36 (C) 44 (D) 48

17. A person walking at a speed of 4.8 kilometres an hour can cover how many meters in one
minute?

(lotag> 4.8 ' oeagd  Drisdw & IS 28 B8 |, 208 DdRBw & IV Dot DS ?

(A) 100 (B) 120 (C) 80 (D) 160

18. The perimeter of square A is 3 times the perimeter of square B. What is the ratio of the area of
square A to the area of square B.

A D SB06R0A0 Bog); ot Sod, B e9do 9ds0a0d0 38ty 23 A S08ain B 09dustw © deregEm
[3) :)IQQG;? doed ?

(A)1:3 (B) 3:1 (C) 1:9 (D)9:1
19. At a book stall, a discount of x% was allowed on each book. A book was purchased by

a customer for Rs y, its marked price was :



28 DYSO WSEIN & VA DYEID P VW G6 &S X % Tand ADND , EFLTPED w8 DRYEI
DD Y ErDrosden BYod |, €3 DRYEHD WL GG Jodd ?

(A)Rs (100y)/(100-x)  (B)Rs (100y)/ (100 +x) (C)Rs (100y) / x (D) Rs. xy

20. A wholesaler allows a discount of 20% on the list price to a retailer. The retailer sells

at 8% discount on the list price. The profit percent of the retailer is :

28 E5°50 DO B DBHRL e 6 P 20 % 80,00 DYS HELDVL VIV . &8 VDD T DY
DGO , R 6 2 8 % B3N 0d A X VSIS SN &°Es FTBAAW dod ?

(A) 20% (B) 15% (C) 12% (D) 8%

21. A small square of side 5 cm. is cut from the corner of a rectangle with a width of 10 centimetres
and length of 20 centimetres. What is the area of the rectangle left in cm*?

5 20B00608 202550 (0 2,8 SBCRI0 &, 10 oBDtog Deseny 208050 20 Doty Ty do &Y

SBGRAD H0d $G00DD, DD BY BBUCRBD D T Ve (IEGRD VoY) &° Joss ?

(A) 25 (B) 225 (C) 200 (D) 175

22. A rectangle A with length 20 centimetres and width 10 centimetres is similar to another
rectangle B whose length is 30 centimetres. Find the area of rectangle B.

10 oBdoerg Deseny 0003w 20 oBrg T do &Y Susaw (A ) , 08 Jd & &) 30
208exg T (o 08 BY 6B X0 (B) %O G B . & Y ACRAW (B) g 7rogoe dod ?
(A) 250 cm2 (B) 450 cm2 (C) 200 cm2 (D) 175 cm?2

23. 1/4 =7 (indicate in % / % &° @enspaw )

A. 4% B. 1% C. 0.25% D. 25%

24. 0.05="? (indicate in % / % ¢° @enspan )

A. 50% B. 500% C. 5% D. 0.5%
25. If 10% of a number is 7, what is 80% of the number?
A. 70 B. 56 C. 5600 D. 0.7

26. The total surface area of a closed right circular cylinder of radius 3.5 m and height

7mis:



Toch DDV SPGBV W8 K DI AIVE) a=5avga»3 5 Doty 20850 B 7 Do D, €8 AT DA
o)) E00S DTV Do ?

(A) 77 m2 (B) 154 m2 (C) 231 m2 (D) 308 m2

27. The volume of a cube is 64000 cubic centimetres. What is the surface area of the cube?

208 DOR0D0D AL DO HBBIERNAD 64000 085 208 Deadd . &8 DOJY €08 B DFOLR0 A WEED

206) Doead ?
A) 400 B) 1600 C) 9600 D) 16000
28. In a bag of small balls 1/4 are green, 1/8 are blue, 1/12 are yellow and the remaining 26

white. How many balls are blue?
28 %00 &°D L0800’ 1/ 4 3 Dok 350 03y, 1/ 8 5 Hodo Do 208050 1/ 12 3 Hodo R0 sy
Borh &5° €50) D. HBD exodoed BYD. BY L0 26 @D, VLA o eodoen ) ?

A) 6 B. 12 C) 18 D) 24
29. Find angle x in the symmetric shape shown below.

&3 300 HELANES® X Ded doh ?
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line of symmetry

A) 90° B. 96° C) 48° D) 180°

30. What is the area of the shaded shape.



800 e AN DY G does?

40 cm

25 cm

whaner.analyzemath.com

A) 707 cm? B) 700 cm? C) 770

cm

D) 777 cm?



